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This unique series utilizes General Semiconductor Industries’ C?R® process which

describes a manufacturing technology that provides surface
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*MAXIMUM RATINGS (Tc = 25°C unless otherwise noted)
RATING SYMBOL 2N6279 2N6280 2N6281 UNIT
Collector-Base Voltage Veso 140 160 180 Volts
Collector—Emitter Volitage Veeo 120 140 180 Volts
Emitter-Base Voltage Veso 6.0 6.0 6.0 Volts
Collector Current—Continuous Ig 50 60 50 Amps
Peak lem 100 100 100 Amps
Base Current—Continuous lp 20 20 20 Amps
Total Power Dissipation@T¢ = 25°C Po 250 250 250 Watts
Junction to Case Thermal Resistance Rosc 0.7 0.7 0.7 °C/W
e e orage Juniation Tyooe | 65104200 | -6510+200 | -85 104200 °c
FELECTRICAL CHARACTERISTICS (T. = 25°C unless otherwise noted)
2N6279 2N6280 2N6281
SYMBOL CONDITIONS Min Max Min Max Min Max Unit
Veeotsu lc = 50mA 120 - 140 —_ 150 — Voits
lceo Ve = 60V—2N6279 — 50 - — - — pA
fceo Vce = 70V—2N6280 — — — 50 — — HA
lceo Ve = 75V—2N6281 — — — — — 50 HA
ICEX Vce= Rated Voso, Vss(om.= 1.5V bt 10 — 10 —_ 10 yA
foex Ve 2RV, = 15000 - 10 - 1w | - 10 | ma
leso Ves = 6.0V — 100 — 100 - 100 uA
hee ¢ Vee = 4.0V, Ic = 1.0A 50 — 50 — 50 —
hee t Vee = 4.0V, Ic = 20A 30 120 30 120 30 120
hee t Vee = 4.0V, I = 50A 10 — 10 — 10 —
Vorrsant lc = 20A, lg = 2.0A — 1.2 — 1.2 — 1.2 Volts
Veewan T le = 50A, Is = 10A — 3.0 — 3.0 - 3.0 Volts
Vietean T Ic = 20A, ls = 2.0A — 1.8 — 1.8 — 1.8 Volts
Veetsan T lc = 50A, Is = 10A — 35 - 35 — 35 Volts
Vaeton T Jo = 20A, Vee = 4.0V - 1.8 - 1.8 - 18 Volts
f Vee = 10V, I = 1.0A, fun = 10MHz 30 — 30 — 30 - MHz
Cob Veg =10V, le=0, = 0.1MHz — 600 — 600 — 600 pF
SWITCHING
t Resistive Load - ' 0.35 - 035 - 035 us
ts Veo = 80V — 0.80 - 0.80 —_ 0.80 s
4 le = 20A —_ 0.25 — 0.25 — 0.25 us
lgs = laa = 2.0A
tp = 30us

~JEDEC fegistered data. { Pulse Conditions: Width = 300xs; Duly Cycle =< 2% (measured using Kelvin connections).
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